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2BEXAR ()

Al aili ld= Zaili Pi(ailix1960) (N)
YO 2.5 x 2.730 6. 825 13377
Y3a 2.5 x 1.820 4.550 8918
Y4 3.0 x 1.820 5.460 10702
Y7 2.5 x 1.820 4.550 8918
Y8 2.5 x 3.640 9.100 17836

&t 30. 485 59751

2BEXARE (<)

‘Y aili Ld = Zaili | Pi(ailix1960) (N)
YO 2.5 x 2.730 6. 825 13377
Y3a 2.5 x 1.820 4.550 8918
Y4 3.0 x 1.820 5.460 10702
Y7 2.5 x 1.820 4.550 8918
Y8 2.5 x 3.640 9.100 17836

it 30. 485 59751
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2fEY AR (1)

EY aili Ld= Zaili | Pi(ailix1960) (N)
X0 2.5 x 2275 5.688 11148
X4 3.0 x 1.820 5. 460 10702
X6 2.5 x 0.910 5.005 9810
3.0 x 0.910
X7 3.0 x 2.730 8.190 16052
X9 2.5 x 0.910 2.275 4459
X13 2.5 x 2730 6. 825 13377
it 33. 443 65547
2BYAME (1)
By aili Ld= Zaili | Pi(ailix1960) (N)
X0 2.5 x 2275 5.688 11148
X4 3.0 x 1.820 5. 460 10702
X6 2.5 x 0.910 5.005 9810
3.0 x 0.910
X7 3.0 x 2.730 8.190 16052
X9 2.5 x 0.910 2.275 4459
X13 2.5 x 2730 6. 825 13377
it 33. 443 65547
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X0 X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X1 X12 X13
1EXAR (=)
By aili Ld = 2 aili Pi(ailix1960) (N)
YO 2.5 x 0.910 11.375 22295
5.0 x 1.820
Y3 2.5 x 0.910 6. 825 13377
5.0 x 0.910
Y4 3.0 x 1.820 5. 460 10702
Y6 2.5 x 1.820 4.550 8918
Y8 2.5 x 5,460 18. 200 35672
5.0 x 0.910
Hi 46. 410 90964
1EEXAR (<)
By aili Ld = Z aili Pi(ailix1960) (N)
YO 2.5 x 0.910 11.375 22295
5.0 x 1.820
Y3 2.5 x 0.910 6. 825 13377
5.0 x 0.910
Y4 3.0 x 1.820 5. 460 10702
Y6 2.5 x 1.820 4.550 8918
Y8 2.5 x 5460 18. 200 35672
5.0 x 0.910
i 46.410 90964




1BEYAR (1)

EY aili Ld= Zaili | Pi(ailix1960) (N)
X0 50 x 1.820 9.100 17836
X4 2.5 x 2730 6. 825 13377
X6 2.5 x 0.910 10.920 21403
3.0 x 1.365
50 x 0.910
X7 4.0 x 1.820 7.280 14269
X13 50 x 2.730 13. 650 26754
it 41.775 93639
1REYARE (1)
By aili Ld= Zaili | Pi(ailix1960) (N)
X0 50 x 1.820 9.100 17836
X4 2.5 x 2730 6. 825 13377
X6 2.5 x 0.910 10. 920 21403
3.0 x 1.365
50 x 0.910
X7 40 x 1.820 7.280 14269
X13 50 x 2.730 13. 650 26754
it 41.775 93639




2.4 KEH ME - BE) (2T 5 HEDRE

EBYREOCERE (O NREE. 4 - RH BHEEGER
53 IE B BHIRE HEFEIES WO (kN) Wi (kN) 2 Wi (kN)
2 | BB 7170 184.55 142. 11
(770) (142.11)
41 BE 2 [iE 500 38.68 x 1.40 27.07
REE 2 [ 400 25.94 x 1.40 14.52
BIRDEF 11.12
BIRDEF+HLBE 11.28 206. 11 206. 11
(206.11) (206.11)
1 | ShEE2 500 38.68 x 1.40 27.07
REE 2 [ 400 25.94 x 1.40 14.52
R 1250 66. 25 82. 81
(1950) (129.18)
TEER 570 4.97 2.83
(570) (2.83)
N)ba=—— 1400 9.94 13.91
(2100) (20.87)
S BE 1 B 500 40.95 x 1.44 29.43
MEE 1B 400 20.02 x 1.44 11.51
N Waz-F§ 4.50
BIRDEF 3.85 190. 45 396. 55
(243.78) (449. 88)
F | ohEE10 500 40.95 x 1.44 29.43
EE 1R 400 20.02 x 1.44 11.51 40.94 437.50
(40. 94) (490. 83)
2.4.1. EHOETE (ETRFE18995)
Hhigith E R Z =1.00
Ci = C0 x Z x Aij
B | Wi (kN) 2 Wi (kN) ai Al Ci eQi (kN) 2 Pi (kN) eQi/ ZPi
C'i
2 | 206.106 | 206.106 | 0.520 | 1.221 | 0.2441 50.315 | X— 59.75 0.842| = 1.0 0K
0. 2441 X 59.75 0.842| = 1.0 0K
X 46 59.75 0.842
YT 65. 55 0.768 | = 1.0 0K
Y| 65. 55 0.768 | = 1.0 0K
Y 46 65. 55 0.768
1 190. 448 | 396.554 | 1.000| 1.000 | 0.2000 79.311 | X— 90. 96 0.872| = 1.0 0K
0.1523 X 90. 96 0.872| = 1.0 0K
X 46 90. 96 0.872
Y1 93. 64 0.847| = 1.0 0K
Y| 93. 64 0.847| = 1.0 0K
Y 46 93.64 0.847




2.4.2. REHDETE
EEE g = 940 (N/m?)

7m | B ZC Aw wQ wQi ZwQi 2 Pi ZwQi
(m?) (kN) (kN) (kN) (kN) / 2Pi
X—|2]120| 883| 9.96
1.11 | 10.53 | 10.94 20.90 20.90 59.75 0.350 | = 1.0 OK
1111 11.48| 11.92
.11 12.30 | 12.78 24.70 45.59 90. 96 0.501| = 1.00K
X—|2]120| 883| 9.9
1.11 | 10.53 | 10.94 20.90 20.90 59.75 0.350 | = 1.0 0K
1111 11.48| 11.92
.11 12.30 | 12.78 24.70 45.59 90. 96 0.501| = 1.00K
YT ]12([1.20] 16.26 | 18.34
.11 17.74 | 18.43 36. 76 36. 76 65. 55 0.561| = 1.0 0K
11111 17.46| 18.13
1.11| 18.10| 18.80 36. 93 13.70 93. 64 0.787| = 1.00K
Yl | 2]1.20| 16.26 | 18.34
.11 17.74 | 18.43 36. 76 36. 76 65. 55 0.561| = 1.0 0K
1111 17.46| 18.13
1.11| 18.10| 18.80 36. 93 13.70 93. 64 0.787| = 1.00K




3.8 —RPE

3.8.1. RLEDEE

H R EF
AR | B Gy (m) Ky (m) ey (m) Jx +Jy r ex (m) Rex
X— 2 4.879 5. 081 0. 202 196995600 4.890 0. 041
1 4.796 5.130 0.334 361632300 5.148 0. 065
X 2 4.879 5. 081 0. 202 196995600 4.890 0. 041
1 4.796 5.130 0.334 361632300 5.148 0. 065
AR | B Gx (m) K x (m) e x (m) Jx +Jy r ey (m) Rey
Y1 2 6. 303 6. 088 0.215 196995600 4.699 0. 046
1 6.227 6.119 0.108 361632300 5.074 0. 021
Yl 2 6. 303 6. 088 0.215 196995600 4.699 0. 046
1 6.227 6.119 0.108 361632300 5.074 0. 021
RERF
AE | B | Gym Ky (m) ey (m) Jx +Jy r ex (m) Rex
X— 2 4.550 5. 081 0.531 196995600 4.890 0.109
1 4.437 5.130 0. 693 361632300 5.148 0.135
X 2 4.550 5. 081 0.531 196995600 4.890 0.109
1 4.437 5.130 0. 693 361632300 5.148 0.135
AHmE | B Gx (m) K x (m) e x (m) Jx +Jy r ey (m) Rey
Y1 2 5.915 6. 088 0.173 196995600 4.699 0. 037
1 5.915 6.119 0.204 361632300 5.074 0. 040
\a 2 5.915 6. 088 0.173 196995600 4.699 0. 037
1 5.915 6.119 0.204 361632300 5.074 0.040
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3.8.2. BEZEHALRBIMR
rsi @ BREIZERADEK hi @ #ERS §i @ Eu=E
i = (hi / 150) - @i / Pi)
o orsi=hi/ g
o S BsRRamr o 8
FHE | B him |Qi/Pi (GhEE) | §ilem) Y si T rs Rs
X— 1 2 2.800 0.842 1.57 1 178.1 = 150 OK 175.1 1.02
1 2.875 0.872 1.67 | 172.0 = 150 OK 0.98
X1 2 2.800 0.842 1.57 1 178.1 = 150 OK 175.1 1.02
1 2.875 0.872 1.67 | 172.0 = 150 OK 0.98
Y11]2 2.800 0.768 1.431195.4 = 150 OK 186. 3 1.05
1 2.875 0.847 1.62 | 177.1 = 150 OK 0.95
vyl |2 2.800 0.768 1.431195.4 = 150 OK 186. 3 1.05
1 2.875 0.847 1.62 | 177.1 = 150 OK 0.95
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